PHrYSICs 160 MAKEUP QUESTION
Due Wednesday, March 21, 11:00AM

1. One day finds your physics instructor moving a M; = 8.0 kg crate of
old books. On the way to the recycling bin, he finds a My = 6.0kg
crate of old physics demos, so he places it on top of the first. By
exerting a force, F? = 40 N at 37° above the horizontal, to the upper
crate, he gets the combination to slide to the right with congtant speed.

What is the minimum coefficient of friction between My and the floor,
as well as, between the two masses? Assume, as shown, that the crates
remain horizontal and in contact with each other.
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